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CLASS-V SUBJECT-MATHS MARKS: 50
SECTION A (1 x10=10)

1) 7kg—750g=__ kg ___ g.

2) The speed of a bus which covers 450 km in 9 hours is
3) What time will it be 2 hours 45 minutes after 11:10 am?
4) Add: 2.86 +1.4 + 13
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®) 756
6) The area of the triangle, with side of each small square 1 cm is

7) 3.02,4.75, 1.63 are examples of decimals.
8) 1.067 rounded off to the nearest hundredth is

9) A stone of volume 50 cu. cm is placed in a measuring cylinder with 100 mL water. The new level of
water will be .
10) Temperature is the measure of the or of a body.

SECTION B (2 x8=16)
11) Rewrite 3.19, 3.09, 3.901 and 3.019 in ascending order.

12) Find the length of a box whose area is 96 sqg.cm and breadth is 12 cm.

13) Divide 8.26 by 4 until the remainder is zero.

14) Find the volume of the given solid figure in cu.cm. (Volume of each cube is
1 cu. cm)

15) Add 42 km 829 m, 75 km 9 m and 12 km 80 m.
16) Siya’s father is 45 years 7 months old. Her mother is 3 years 8 months younger than her father.
What is her mother’s age?
2
17) The height of Mohan is 2 = m and that of Ram is 11—70 m. Who is taller and by how much?

18)The sum of two numbers is 120.95. If one of the numbers is eighty and 4 hundredths, find the
other number.

SECTION C 3x4=12)
19) Alisha went to meet her Granny with her three friends. Her Granny gave them ¥104.60 to divide

equally among themselves. How much did each child get?



20) a) 10 papers in a packet are 2.5 cm high. How much thick is each paper (in mm).
b) A glass can hold 50 mL of milk. Find the number of glasses that can hold 2 L of milk.

21) Find which has the greater capacity: a cubical box with each side 6 cm or a cuboid measuring

6cmx3cmx4cm?

22) a) Anuj joined swimming classes on 15" May for 45 days. On which date did the last class end?

b) Change 760 seconds to minute and seconds

SECTION D (4 x3=12)
23) a) Form a decimal number with 5 thousandths, 9 ones, 3 tenths and 7 hundreds.
b) Solve :8.5x 4

24) Kiran weighs 62.50 kg. If Raman weighs 2 times the weight of Kiran, Find the sum of weights
of Kiran and Raman.
25) The Circle graph shows the data about book collection of Pulkit.
If there are 90 books in his collection, study the graph and ot —

answer the questions below. Comic books

1. How many Comics books he has? .\

Arts =
M_)
Mystery books

/
Story books 1

2. Which books are one tenth of his collection?
3. Which books are equally collected by Pulkit and how
many?

4. Which book did he collected the most and how many?

o

How many story and mystery books did he collect in all?



